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I. Bombay Co. Ltd. Maintains Integrated System. The folloy

provided to you.

[Max. Marks : 70

ving relevant information is

I4

Opening Balances -

WIP Ledger Control Account
Finished Stock Account
Prepaid production overheads

Material purchused
Malterial issued :

. Total wagespaid :  Direct
Indirect
Selling overheads paid
Production overheads paid
Sales
Cost of finished goods sold.

ta Nnished stock account
Physical value of WIP at the end

Stores Ledger Control Account

Praduction
Maintenance

60,000 |

8.000

50.000

10,000

Cosl of goods completed and transferred

EEIN
| 50.000 | -
40,000 |
70,000 | |
6.000 |

75,000

68,000
60,000 |
12,000
24,000
2.00.000
1,60.000

1,30,000
9 i

Production overheads charged to WIP at 150% of direct wages,

Prepare the following accounts
(i) Stores Ledyer Control Account
(i) Wages Control Account
(iin) WIP Account
(iv) Finished Stock Account
(v) Production Overheads Account
(vi) Selling Overheads Account
{(vii). Cost of Sales Account
(viii) Profit and Loss Account

OR
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(a) Distinguish between Integrated and Non-Integrated Accounting System.

(b) Which types of material related transactions are recorded
Contral Account ? Show these transactions with Journal Entries.

in Stores Ledger

2. (a) Distinguish between Cost Control and Cost Reduction.

(b) Explain EOQ maodel with illustration.

OR
(a) During the year ended 31 March, 2017, the factory overhead costs of three
| production departments of organization are as under :
Departments  Actual (%)
A 48,500
B §9.750
C 64,500
The basis of apportionment of overheads is given below : :
Departments : '
A Z5.00 per machine hour for 10,200 hours
B 80% of direct labour cost of T 1, 10,000
C 3 4.00 per piece for 15,000 pieces.
Calculate department-wisc ulncler or over absorption of overheads.

(b) X Co. Ltd. anticipates that 90% learning curve will apply to the production of a
new item. The firstitem will cost T 4,000 in material, ¥ 2,000 variable overheads
and will take 600 heurs. Per hour labour cost is T 10, This company has received
an order of 8 items. The company of the policy 1s to earn 25% profit on total
variable cost.

You are asked to determine selling price to be quoted for an arder of 8 items.
3, (a) Whatis Activity based costing ? Discuss advantages and limitations of it.
(b) How activity based costing is different than Traditional costing ? Explain.
OR
Bhagwan Limited produces four products A, B, C and D. The following information is
available.
Products A B C D
Production (Units) 200 400 1000 | 4000
No. of Production Runs 4 O 12 40
No. ol set-ups 4 8 12 16
Labour hours/unit 2 2 4
Machine hours/unit 2 O 4 2
Material®cost per unit (3) 100 300 200 400
Direct labour hour cost (%) 25 25 25 25 -
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Support department costs and possible ‘¢

ost drivers” are as follows -

Support departmient costs 3 Cost Drivers
Set up costs 2.00,000 | No. of selups
| Material Handling costs 1.86,000 | No. of production runs

Production scheduling costs 1,55,000
| Other variable costs 75.000
Determine per unit cost of each

No. of production runs

Labour hours

product under Activity based costing.
(1) Discuss different methods of pricing,

(b)  Explain pricing strategy for new produet. - 7
OR

Swami Co. Ltd. produced and sold 10,000 machines at a selling prige of 20,000 each.

The cost of each machine was as under. Total variable cost is ¥ 13,400. The proportion
of Direct material, Dircct labour, Dircet expense and Faetory wvariable O/H was
00 : 60 :6: 8. This proportion is to total variable cost. Figed overhéads are 2,400. 14
Expected price increase for next year : Direct material 30%, Direct labour 15%. Direct
expenses 20%, Factory variable O/H 10%. Fixed oversead 3%, B

You are required, to for the coming year to e
(a) Determine the selling price of the ‘machi

ne, it the number sold and the annual
profits are to be remain unchanyed, : S

(b) Dectermine how many machines the company would have to sell, if it did not
change the price charged but maitained the profit level achieved last year,

3. Select appropriate option for cach question. ; : | 14
(1) Which of the Tollowing account is irrelevant under non-integrated accountling
system ? ' : |
(a) - Creditors™ Account (b)  Debtors® Account
(¢).  Bank Account (d)  All of the above

T T, . -')
(2) . Where the concept of under and over recovery is applicable
E (a) Direct material (b) le'lf}ct labour
(c) Direct expenses (d)  Indirect expenses
C ‘

3 ‘Almm-mal loss of material will be debited to which account?
) (a) Stores Ledger Account (b)  Factory overheads
(¢) Work-in-Progress Account (d) P &L Account

4 intey > ' ident wi redited for
I ate ated system, which accident will be ¢
on-integrated and integr
(4) Undern L

ant of direct wages 7
» payment of ¢ :
paym Bank and General Ledger Control Account respectively.

(;]}I General ledger control Account and Bank Account respectively.
:c} Only Bank Accounl. o
(&) Only General Ledger Control };ccmml. | T
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(5) Leamning curve has no relation with
(a)  Direct material

(b) Factory overheuads
(¢)  Direct expense

(d) Al of the above
(6) Exccution of EOQ maodel leads to

(@) Improvement of profitability
(b)  Reduction in cost
(<)

Rationality approach of material purchasing
(d)y  All of the above

(7)  Cost Reduction is result of
(a)  Innovation

(b) Cost control
(c) Both (a) & (b)

(d) Neither (a) nor (b)

(8) Activity based costing has relation with
(a)  Direct material (b)

Dircct labour
(¢) Overheads

(d) None of the above
(9) * Which of the following is not terminology of Activity based costing ?

(a)y Cost Pool (b)  Cost Dnvers
(c) MRP

(d) Overheads

(10) Which of the follgwing is most appropriate cost driver for dispatch costs ?
(2)  No. of purchase orders (b)

No. ol inspections
(¢) No.wtfdeliveries

“(dy  Machine hours
(11) Totalcost pluspricing means

() Direct and Indirect cost

(h) Fixed and variable cost

(c) Manutacturing and Non-manufacturing cost
(dy Al of the above

(12) What is not correct for Marginal cost plus pricing ?
(a)  It1s contribution approach. (b)

It is linked with variable cost
(¢)  Fixed costs are considered. (d)

All of the above
(13) A company has provided following information.

Investment in fixed assets T 10,00,000, in current assets I 5.00.000., Equity ¢

Z 12.00.000, Current Tiabilities ¥ 3,00.000. Total production cast ? SfJ-UIJ_{j{;Irr[:-::
5.00.000 units. Company wants to eam 30% return on total investment. What will
be selling price per unit ? _ .
(a) 1090 (b) 13 o
(c) T10.72 (d) None of the above
sricing decision is ‘

(4 :;:]l Profit Planning Decision (b)

Cost Planning Decision

(c) Organisation Planning Decision  (d)  All of the above

8
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